A=t F104RLESEFRTREFESBREAR|B B[ 1A 158 |&F)
SB4| BARBAL BRI BIsAESZI | 15 : || |K) @80 ABEIR 7,
Han| 2E#K 5T 2] g;f—ﬁn 28 /i
T B A M|1]|2]3]a]ls|e|7|s]ofrofrr]r2[13]1a]15] R]H]E] T Lagwse1s L, paos
pi%_ Jofolofo of2]o]» Xt s
A& |0]0]2 2|50 v ks
(&4) - BB RH 1B fEeE 2B AS 3B fr@
™1 2 3 45 6 7 8 9|lxmer|tM1 2 3 4 5 6 7 8 9|l ar: AR
K2 (® 3@ @50 @] ZBRE [ &) (06 (D@ @ (1) L8 & 2l km/h
S|4 2 2 # AR OT A0 AG L 7:7;(5177) TS F KL R S sk
z|g & B mpn [ M Z_(TTR) 100 kn/h
GlemE Bt i Mex%A ss@ET "%~
&) (B) (B) (k) (&) (£) (B) (£) (&) @ (%) (B) (%) (B) (B) (£) (%) (&) (%)
| B LE =K ()%
loﬁa'lsw"‘%mk"/"‘fcvéﬂﬁ' CGDBK=73K " gFS S 610 = 3ot 3% km/h
2 %ﬁlﬂknlﬁ_@lzskn/n c‘us =7fb(w)—’3 § | e
3 B e e s - GaE - Gh ® 26177
L?%(zsmmz) = SK e E\Z?fﬁﬁ?m‘) 5 §Z66 (37 A c®6 é%FRI ,%LSF\I T®%:
L& sk LB Reh- Ihs . OK 8k b
& b B D B b Dbuw |3BR 55 T @ B 130
& 577 89 LE -3 @ 13 243 4.8 rg1 = 3 = By
| & 6:6:37 \8/52(158)® L §®.EHF"' JEG%’ lSlFS§~T(>Z:7%\(ZS)’5" =
2§%15T 2=6t-2 23\ 8o§® f*f)z7 éksxf?&“ ,’ZEBS‘? (DHE%Z—?&.T §ZHE[§<
b%@?f éﬁtlﬂ"‘ EE?:, ) f—Brs ‘I—JS & Zggffvﬂ ﬁilfzﬁ) — out
1‘7%9\/(6!)”> Sout 230 83uk 3B e 2 90 @
3EN o Boar W i |8 BSE" A ?(FLz) 4 BED 71,2 Bn Fh
LERE A i T o | 9B Ao B S B Do |5 B ke = 6 (g1) = 2Bon
L& Jers 2T = 6 28v6n)| LE D SK ZHAGIhEaK sy %
B e e B 1GB S @, e d1 D L) odm| B
L‘>§ = 5(2.) % %
= & 3E177 &
8§ o0k 8. %;m :>%,;® &
Z"%Z.C'l@g%] AE3 2, z’w %6“#2 9 &Y - s P L) P30 230 &
L& e =8 @) l(z)§1c77*“/“ 4 = 7(135L) =6 &
5 B B Gy 6 > D09 SE @D @ 250 @1 &
LE® 2%5_;7 C5—7“/L\**%o7 H
6B s SRR eipl” G | 330 GHD) &




T E A M {12345 6|78]9]10]11]12]13])14]15|R|HIE
KIE ololololo|o 01213
XEER. (0|02 |6 ]2 1130

55~ 1328

§4‘E‘J7:7 55’—(}5@/ (")m%i

LE 3L G0 6 il

5% Zerss = @(17BRW) ®

LE (2 3v

O.OKx. O . 0K .(%) .OK
boBrog B alahn (rzgv s 2 SK

BB e > T 9p) "~ 4 =524

gmta 0. m ots. A
El_El " cpl C"IFDK ES R

L?% @7@ L @ 2%\

As’mn?]dv? N0
LgEFe Fab FL3 ézFLZ Sk’

m.g. 0 CEM.O . £20
7§El t%t‘l F9(2ST) 3 E| D4 stgg

- rt
%cp(,ﬁﬁ; CS :>/V\K e

Ly > Bp |23 A7

o %M 66 oy > & Uol_m) B I3w

B@R @i 9

? %cg FG1 —>v(1) Sou'{

M . M j2okes \ o
h‘r)%% B pﬁ'ésT" fqz 4 = 8 (1)

&

LE -6 2£TA 330

K &S
8 smx 2 %ﬁ%n ?cs %Tﬁ* 2-3%\
b3 s oo il e 2w |BEAR e 29

]—7% 3 out

%@,m ﬁC_lﬁS’iﬂ 73-ANREIA T 858 3
IR /\.

7TES) G & tass V8@ Jat #*
8 EBIO™ D- WD bgn 3| B OEIR
& ©m ERH)—~)
® SE177 '*”“L’?Zéié%ifw. 9.5 stP c?% '%\'cem %ﬂm %m
0BG T st > e —4 | LEISK
LEGD 23 sy 16§ &5 Beq - Vel sk

2B >Sm— 334 33

2 %?&zlkm/" : Clpg $ﬁ}(loﬂ) = 3out

N e

&

D | ER [ EDR [ DR | EDR | ER | EDR | D | DK | EDK | EK | EDR | DK | DR | K | K | R | ER | B | BN | BB | EBR

E®D (1) - @) A% 8 177 B
3ES) BB 2. o924 [3BRL-0 B8 & O am:
l—>§‘ . 2% 4. B8 S rar e Res ";[ADE?czSTj 24 km/h
4. EE B his Bes 2ER amy| D ks = GR (358Rover =
LECD s E 4T 16:38
5&Dh 7 7@221) 8 =6 #&
LE @) 2% £
& ®1ER % ()%
b, é-;e\ ‘Bs > 90504 @D & #% km/h
LE @ 23 H 5
TEm N r@) % % &
LEMsm PN ki | B
LB o s D5 @ &

L
JICeyTXI 0t Ran e




